\ System Summary \2/1=Game Force; namyats; non-forcing strong 2D; better minor openings 3+suit \
1NT=15-17: Stayman, Jacoby, 2NT>3C, rebid shows 1 of 4441, Gerber, Texas,Smolen 2NT=20-

Notrump openings 21:Stayman, Jacoby, Smolen,Texas, Gerber, 3S->3NT (minor 1 or 2-suiter) 3NT=Solid minor no outside

A/K
\ Major suit openings \1 H/1S: 1NT=forcing by uph, Jacoby 2NT, 3NT=distributional raise,drury,Splinters, flower by passed, \
| Minor suit openings 1C/1D=3+, 2NT= Jacoby, 3NT=13-15, 1C-1NT=6-10, 1D-3C=nf constructive |

2C=strong: 2D=waiting, 2H=negative, 2NT=H positive 2D= strong nf; 2H/2S=weak: 2NT=asks
singleton;3c asks feature, new suits forcing

\ Other agreements \4th suit game force, Unusual vs. Unusual. 2NT over opener = Jacoby, 2D jump overcall = flannery \
Negative->4H, Responsive->2 level, Support x, xx ->2-level, one top honors;after partner overcall and

2-level openings

sl opp forcing bid, x = one of top 2 honors
\ Notrump overcalls \1 NT=15-18 (system on) 2NT=unusual (2 lower unbid) \
\ Simple overcalls 8-16+ HCP; new suit=forcing; jump raise=weak; cuebid=limit raise+ \
\ Over 1INT openings \DBL=cIubs 2C=majors,2D/H = transfer, 2S = S +minor, 2NT= minors \
| Jump overcalls Weak |
\ Over takeout doubles \New suit forcing at 1-level; RDBL=10+ HCP; 2NT=limit raise+; jump raise=weak; \
\ Direct cuebid \Michaels; \
| Slam bidding RKCB 0314; Gerber; Grand slam force; DOPE;ROPE |

Attitude: low=encouraging; high=discouraging Count: high-low=o0dd; low-high=even; 4th best leads; Ace

Defensive carding from AKXx versus suits

Defense against Multi

X=.13-15 NT or 16+ any hand

2M=NAT

2N=16-18

3m= NAT

If you pass and then reopen with a double that shows a T/O with a shortness.
2D-P-2M-X shows a T/O double of that suit

Otherwise, you need to pass 1 round and then X.

For ex:

2D-P-2H-P

2S-P-P-X=T/O of spades

Lebebsohl is on ( I like to have 2N after X as pick a minor or weak in D or C) which means that 3C could be wide range.






